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QUESTION 1

You have been asked to justify the creation of a Service, but skills In the best implementation technology are expensive.
How would you reflect that in the Service Candidate Selection Framework? 

A. Choose a different technology and automatically score the Service as having a high technology capability inhibitor
score 

B. Reflect the cost of the resources in the weighting for the skill set Impact inhibitor score 

C. Reduce the potential reuse level of the Service because It may be difficult to find skills to update and manage the
Service in the future 

D. You cannot score this Service without the skills being available 

E. This availability of the skill is too subjective to be possible to score 

Correct Answer: B 

 

QUESTION 2

While defining the SOA Requirements Management process, you have identified the need for a SOA repository. Which
three items would you store against your Service? 

A. Source code 

B. Usage Agreements 

C. Capacity Metrics 

D. Security Policies 

E. Build scripts 

Correct Answer: BCD 

 

QUESTION 3

You are a developer working on a Service implementation and you notice that there may be an opportunity to make use
of another external Service to deliver your implementation. What steps should you take to make use of that Service? 

A. Incorporate the Service using its published interface and inform the governance board when the project is finished, so
as not to delay the delivery schedule 

B. Create a second instance of the Service for your purposes so as not to affect the capacity of the current Service 

C. Gather the re-use justification and present it the SOA governance board and wait for s/gn-off of your new design 

D. Bypass the published interface and call the implementation of the other Service directly so as to reduce the latency of
calling this Service 
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E. Copy and paste the implementation code for the second Service to expand the implementation of your own Service,
so reducing latency to a minimum and creating a composite Service 

Correct Answer: D 

 

QUESTION 4

When considering the interface design for an enterprise-wide Service you have been guided by the SOA Reference
Architecture to consider a document style data format first. Why is that? 

A. Large amounts of data can be exchanged with document-style interfaces. 

B. This will provide the greatest opportunity for re-use from the widest possible number of consumers. 

C. Document-style interfaces provide for tight coupling between consumers and service providers. 

D. Document-style interfaces tend to be quite fine-grained so that they can be re-composed in innovative ways. 

E. Document-style interfaces provide for tight coupling between consumers and service providers. 

Correct Answer: C 

 

QUESTION 5

One of the goals of your newly formed SOA Initiative is to address current integration brittleness and inflexibility. Which
option best supports your goal? 

A. Make sure the Service contract details how the Service was implemented so that the Service consumer can take
advantage of the underlying technology platform. 

B. Utilize XML because it is flexible and Service consumers can transform the Service payload easily. 

C. Decouple Service consumers from Service providers by encapsulating and abstracting the source systems behind a
Service interface 

D. Utilize REST Services because they are more flexible because they are not restrained by WS* standards. 

Correct Answer: C 
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